PDF 2022 9 Web
88 RiER SECHER sHLAdE » www.iwata-fa.jp

’ AFPUVSERR o
e — 1=t )| RoHS §ADe
. AIVFT=RAUY bHS=" 21168 @][ ] ,

AUy MEBICKD. Vv T MEGDIF D LB LMD TN TEX T,
RAFTRTZ UV TORBEREZ DI ENTEFT,

SUS304

=E20)) BEB_yTIV Ay X
LB & REAIE B pEv4 ]
$% S45C . B3 RANARIVN(BED) 14

M | $ S45C BBy AyF | ABRFHHRILE(SUSXMT7) 174
S | 27> LR SUS304 RANATARILN(SUSXM7) 17 SCS 0308 5
AE3mm. iE8mm. 2%

FPUYT
EEm

Bf7 © mm

#D*0.1
#D1-0>

PBENE
scs C ®B nE
3~6 |150%

+0.05
©8~40 | 1507

;

iwata



PDF 2022 9 Web
»P.698 »P.754 »P.754
2 it ()
e |E|F2E & Wl g |y | 4 | WEEY 2% e
NT7VZT| ¢B | @D | | | |, | ¢D M LEMERS | 2w | hvk |SUS304
c | m | s
gggz 3| 5 | 85| 1 |15 |1 | 45| 3 | 45| M3xs8 |SCS0308_B| 770| 8201,200
ggfg 4|6 | 85| 1 |15 |1 | 45| 3 | 45| M3x8 |SCS0408JB | 770| 8201,200
69577
6052z | 5| 72| 85/ 1 |20 |1 |6 |3 | 6 | M3x8 | SCS0508( 1B | 770 820 1,200
625727
60627 94| 85| 1 |20 |1 | 65| 3 | 7 | mM3xs |SCS0608_B1| 820| 880]1,420
62677 6 97| 85 1 20 | 1 65| 3 7 M3x8 |SCS 0608 B2 820 880 | 1,420
69627 91| 85| 1 |20 |1 | 65| 3 | 7 | M3x8 |SCS0608 B3| 820| 880]1,420
60827 117] 85| 1 | 20 |1 | 7 | 35| 7 | M3x8 |SCS 0808 ]B1| 880| 930]1,530
6282z | 8|132| 85| 1 | 20 |1 | 7 | 35| 7 | M3x8 |SCS0808[|B2] 880 930 1,530
69877 11.2| 8.5 1 20 | 1 7 35| 7 M3x8 |SCS 0808 B3 880 930 | 1,530
600027 14.7 | 11 2 30 | 1.5] 9 5] 8 M4x12 | SCS 1011 ]B1 930 | 1,040 | 1,640
620027 | 10 |172]11 | 2 | 30 |15| 9 | 5 | 8 | Max12 |SCS1011[ B2 930 1,040 | 1,640
690027 14211 | 2 |30 |15 9 | 5 | 8 | max12 |SCS1011[1B3| 930]1,040]1,640
600127 17211 | 2 | 30 | 1510 | 5 |10 | M4x12 |SCS1211(JB1| 990]1,090 1,690
6201ZZ | 12 |1 18.7 | 11 2 30 | 1.5/10 5) 10 M4x12 |SCS 1211 B2 990 | 1,090 | 1,690
690127 162(11 | 2 | 30 | 15/10 | 5 |10 | Max12 |SCS 1211 B3| 990 1,090 1,690
600277 20212 | 1 | 35 |15[12 | 6 |115| M5x16 |SCS 1512 JB1 1,090 |1,200 | 1,800
620277 | 15 |21.7]|12 | 1 | 35 | 15|12 | 6 |115| M5x16 |SCS 1512 B2 1,090 | 1,200 | 1,800
690277 19.2 112 1 35 | 1.5/12 6 115 | M5x16 |SCS 1512 ]B3| 1,090 1,200 | 1,800
600327 22212 1 35 | 1.5/13 6 125 | M5x16 |SCS 1712[]B1| 1,090 1,200 | 1,800
62037z | 17 |242|12 | 1 | 35 | 1513 | 6 |125| M5x16 |SCS 1712 1B2| 1,090 | 1,200 | 1,800
690327 212012 | 1 | 35 | 15/13 | 6 |125| M5x16 |SCS 1712[ B3| 1,090 | 1,200 | 1,800
600477 27212 1 40 | 1.5/14 7 13 M5x16 |SCS 2012 ]B1 | 1,200 | 1,260 2,180
620477 | 20 |29.2 |12 1 40 | 1.5/14 7 13 M5x16 |SCS 2012[]B2 | 1,200 | 1,260 2,180
690477 25212 1 40 | 1.5/14 7 13 M5%x16 |SCS 2012[ /B3 1,200 | 1,260 | 2,180
600577 31.7 |15 2 45 | 15|17 7 16.5| M5x16 |SCS 2515[ 1B1|1,260 | 1,370 | 2,510
620577 | 25 [ 33.2 |15 2 45 | 1.5/17 7 16 M5x16 |SCS 2515 |B2| 1,260 | 1,370 | 2,510
690527 302|156 | 2 | 45 | 1517 | 7 |165| M5x16 |SCS 2515 B3| 1,260 | 1,370 | 2,510
600627 38215 | 2 | 55 | 15/20 |10 |185| Mex25 |SCS 3015[ |B1 1,590 | 1,640 | 3,060
620627 | 30 |402|15 | 2 | 55 | 15|20 |10 |185| M6x25 |SCS 3015[ B2 | 1,590 | 1,640 | 3,060
690627 35215 | 2 | 55 | 15/20 |10 |185| M6x25 |SCS 3015[1B3 | 1,590 | 1,640 | 3,060
6007272 43.2 |15 2 60 | 2 |23 12 20 M6x25 |SCS 3515 |B1| 1,640 | 1,750 3,380
620722 | 35 |462|15 | 2 | 60 |2 |23 |12 |20 | M6x25 |SCS 3515 B2 | 1,640 | 1,750 | 3,380
690727 412015 | 2 | 60 |2 |23 |12 |20 | Mex25 |SCS 3515 B3| 1,640 | 1,750 | 3,380
600822 482(17 | 2 | 70 |2 |26 |13 |23 | M8x30 |SCS 4017 1B1 2,080 | 2,290 | 4,150
620877 | 40 | 522 |17 2 70 | 2 |26 13 23 M8x30 |SCS 4017[]B2 | 2,080 | 2,290 4,150
690877 46.2 |17 2 70 | 2 |26 13 24 M8x30 |SCS 4017 /B3 2,080 | 2,290 | 4,150

RAQRVAY T 54T 13.P8I%E CBS &L,

N7UVY
ElEm

4
’

iwata



